Graphing Rational Functions Review December 04, 2023

Today's Plan:

Learning Target (standard): | will graph rational functions using the
7-step process.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will. Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

Please take a few minutes to go over your
graphs with someone near you!

* Quiz tomorrow! *
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Graph using transformations. Find the domaﬁ and ra}ige.
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Graph using the 7-Step Process:
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Assignment:

p.237 #50, 62, 64, 66, 72

* Quiz tomorrow! *
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Chagpter 3 Polynomial and Raté
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